Chapter 1 Task B Solution
1. a) 
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b) 

	Year
	Number of Births
	First Differences
	Second Differences

	1950
	372 009
	
	

	1951
	381 092
	9 083
	

	1952
	403 559
	22 467
	13 384

	1953
	417 884
	14 325
	−8 142

	1954
	436 198
	18 314
	3 989

	1955
	442 937
	6 739
	−11 575

	1956
	450 739
	7 802
	1 063

	1957
	469 093
	18 354
	10 552

	1958
	470 118
	1 025
	−17 329

	1959
	479 275
	9 157
	8 132

	1960
	478 551
	−724
	−9 881

	1961
	475 700
	−2 851
	−2 127

	1962
	469 693
	−6007
	−3 156

	1963
	465 767
	−3926
	2 081


Even though the scatter plot graph looks quadratic, the second differences are not the same.  

c) 
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d) 
Assuming that the data are roughly quadratic, I used the graphing calculator to find the equation.
y = −1500x2 + 5 878 087x − 5 756 927 594
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e) 
The maximum number of births, using my function, was 476 368. This is fewer than the actual population because quadratic regression uses the data to estimate a “best fit” function. The function is only an approximation.

f) 
y = −1500x2 + 5 878 087x − 5 756 927 594
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x = 1925.47 or x = 1993.26

These values would represent the years (1925 and 1993) when there would be no births if this curve were extrapolated.

2. a) 
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b) 
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c) 
y = −988x2 + 3 935 699x − 3 917 970 097
d) 
The curve of best fit matches the data from 1950 to 1967 better. 

3. 
During World War II, the men were away so fewer pregnancies occurred. After the war, the men came home, married and many babies were born around the same time, so this was known as the baby boom. This number tapered off (1967) as the size of families met parents’ expectations. Also the advent of the birth control pill allowed parents to limit the number of children in their families. 


The baby echo describes the time when the baby boomer children started there own families. 
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